
CANBERRA T.Mk.19 

Restricted 

DD EDSEESPSSUSS SS FZ 

Issued with A.L. No. 6, November 1974 

Page | 

INDEX OF PROPRIETARY ITEMS 

Manufacturer Description Page No. 

Alvis Cradle, bomb trolley AS. 18086 El 

Arrow Switch 93A-402A-13 D.13 

Astor, Boiselier and Lawrence Wax, Okerin 3700 KD.1 

KD,.2 

KD8 

Aviation Developments Ltd. Pin, pip A.405 E2 
Pin, pip A.408 KD& 
Pin, pip A421 E.] 

Belling Lee Lug, turret L.666 Dg 

Brush Electrical Fuse VI5/111/T C45 

Cannon Clamp, cable MS.3057/4 C35 

Chelton Aerial Type 167 KC] 

Carr Fasteners Ltd. Back, plate 708A D4 

D5 
Eyelet 400 D4 

Plate, clinch 410A D4 
Socket N.608 D4 

D5 
Stud 410 D4 
Stud 882 c.40 

D5 
Stud 895 D5 

Washer 295A DS 

Washer 400B D4 

Dowty Equipment Ltd. Jack, hydraulic C.7050Y LD.3 
Shroud, switch terminal AS.10512M-2 D.6B 

Switch AS.10512D-1 D.6B 

Dunlop Ltd, Filter, air ACO.1268 FB.B 

Hose, connector DC.403A 30 FB.4 

Pipe, flexible DC.10IC/16 LD.3 

Dzus Fasteners Fastener FJ /4/50 FB.3 

Spring §.4/275 FB.3 

English Electric Co, Ltd. Bradford Actuator, type 285, Mk. 6 CB.1 

Actuator, type 4023, Mk. 2 CB.1 

ish Electric Co. Ltd. Preston Bobbin EEAS.552/6 FB.3 
Silda Bobbin EEAS.552/7 FB.3 

Bolt EEAS.13/1 MI 

Bracket EEAS.29/1ER FB.3 

Bracket EEAS.133 Les 

Bracket EEAS.136 D.14 

FB.3 
LEZ 

LE3 

iF 



BS ___eeeeeeeee 

Issued with A.L. No, 6, November 1974 
Restricted 

Page 2 

INDEX OF PROPRIETARY ITEMS 

CANBERRA T.Mk 1? 

| Manufacturer 

English Electric Co. Ltd, Preston 

( Continued) 

Description 

Clip EEAS.91/2 

Clip EEAS.91/4 

Clip EEAS.112/6 

Clip EEAS.112/7 

Clip EEAS.112/21 

Clip EEAS.143/5 

Clip EEAS.143/5H 

Clip EEAS.143/6 
Clip EEAS.143/6H 

Clip EEAS.143/7 

Clip EEAS.143/7H 

Clip EEAS.143/8H 
Clip EEAS.143/14H 

Clip EEAS.143/17 

Clip EEAS.143/26H 

Clip EEAS.143/28H 

Ferrule EEAS.111/6 

Fork end EEAS.51 

Fork end, adjustable EEAS.50 

Gasket EEAS/69/2 

Gasket EEAS/150/3 

Gland EEAS.62/2 

Gland EEAS.62/3 

Hose, rubber 

Hose, rubber 

Housing 

Link, terminal 

Link, terminal 

Link, terminal 

Nipple 

Pin, sealing 

Pin, sealing 

Pin, sealing 

Plate, serial record 

Plate, clamp 

Plate, ident. 

Plate, ident. 

Plate, ident. 

Plate, ident. 

EEAS.164/8/13 
EEAS.164/10/15 

EEAS.3/K 

EEAS.71/1 

EEAS.71/2 

EEAS.71/3 

EEAS.37/8A 

EEAS.41/3 
EEAS.41/5 
EEAS.41/8 

EEAS.65 

EEAS.73 

EEAS.550/3 

EEAS.550/10 
EEAS.551/6 

EEAS.551/10 

Page No. 

PB.4 

G3 
LE2 

FB.8 
FB.4 

LB.1 

LEQ 

LE 
LD.1 

LE.4 

LD.3 

LD.1 

LA3 

LE.2 

LE.3 

G3 
LD.1 

LE2 
LE.4 

FB.3 

FB.8 

LC.3 

Lc.3 

C.l 

FA.3 

FA.3 

FB.8 

LE.2 

C.31 

Cé& 

Cé 

FA.2 

FA.2 

M2 

cl 

Cc. 

C.6 
C.11 

C.39 

D2 

M3 

M7 

M.11 
M.11 
M2 

M.6 

M11 

C44A 

C45 

CAS 

CB.3 

LCé 
c.41 

C.1? 
C.19 
C.19 



a 

Restricted 
Issued with A.L. No, 6, November 1974 

CANBERRA T.Mk.19 
Page 3 

INDEX OF PROPRIETARY ITEMS 

Manufacturer Description Page No. 

English Electric Co, Ltd, Preston Ring, clamping EEAS.66/2 LA.2 (Continued) Ring, clamping EEAS.66/3 LC3 
Ring, clamping EEAS.66/4 JB. 

JB.3 
Ring, clamping EEAS.66/5 LA.2 

Lc3 
Ring, locking EEAS.200 D.14 

FA.3 
Screw EEAS.1/1C G.] 

G5 | 
GA] 

Screw EEAS.1/1.1/2C FB.) 
G.l 
GA.l 

Screw EEAS.1/6C FA.4 
Screw EEAS.1/2C M2 

M6 
Screw EEAS.1/4C M.2 

M.6 
Screw EEAS.1/5C M5 | 
Screw EEAS.1/2.1/2E M2 | 

M6 
Screw EEAS.1/4.1/2E M2 

M6 
Screw . EEAS.117/1 C5 

(oa, | 
Screw EEAS.270 C44B | 
Shim EEAS.27/8/4 M4 

M7 

M8 
Sleeve EEAS.566 C44B 
Spoke EEAS.38/2A M3 

M7 
Strap, c/w buckle EEAS.132/7 C.44A ' 

C.45 

cc.) 

CD.I 

Strap, c/w buckle EEAS.132/9 C.44A 

ce. 
cc2 

CD.1 

Strap, c/w buckle EEAS.132/12 C.44A | 

LC.6 ' 

Strap, c/w buckle FEAS.132/15 C.44A 
Tab, locking EEAS.20/1DR FB7 

LE3 
Tab, locking EEAS.20/2DR FB.2 

FBS 
LD.2 

Terminal, earth EEAS.142 c.4l | 

Washer EEAS.4/20G M.10 

Washer EEAS.15/JR M.12 | 

Washer EEAS.21/2DR LE.4 | 
Washer FEAS.21/2DRH LE3 | 
Washer EEAS.21/2ERH F.2 | 

LD.2 | 
Washer EEAS.21/9ER LE3 | 

| 

| 

| | 

Restricted 



———— Te 

Issued with A.L. No, 6, November 1974 

Page 4 

Restricted 

INDEX OF PROPRIETARY ITEMS 

CANBERRA T.Mk 19 

Manufacturer Description Page No 

English Electric Co, Ltd. Preston Washer EEAS.21/10DR = 

(Continued) Washer EEAS.21A/4FU < 

Washer EEAS.21A/7GR D.6B 

Washer EEAS.27/9GX FA.3 

Washer EEAS.28/2CR C37 

Washer EEAS.28/2CU Cl 
C7 

Washer EEAS.28/2DP C44A 

Washer EEAS.28/DPH Lc.5 

Washer EEAS.28/2HP D9 

Washer EEAS.28/4EP Cll 

Washer EEAS.28/6FP CB.3 

Washer EEAS.28/8FP CB.3 

Washer EEAS.28/18ER cc.l 
CD.1 

Washer EEAS.28/20EPH c.44c/D 

Washer EEAS.28/36CU D7 

Washer EEAS.28/48FH c.44c/D 

Washer EEAS.28/S51FR D.13 

Washer EEAS.28/51JR D.13 

Washer EEAS.28/34JR M.1 

M5 
M.12 

Washer EEAS.28/38)R M.12 

Washer EEAS.42 | 

C7 

Washer EEAS.43/1 C7 

C4) 

Washer EEAS.43/2 C7 

Washer EEAS.43/3 oj 

C4) 

Washer EEAS.238/1A C.19 

Washer EEAS.239/1A D.16A/B 
LC.3 

Washer EEAS.238/2A D.12 

Washer EEAS.239/1AH FB.7 

Hellermann Electric Co. Ltd. Body. gland 4370 CB.1 

Bung, pressure SR.3414 C4) 

Bung, pressure 5R.3921/E Cl 

Bung, sealing 5R.3413 C3l 

Bung, sealing HV.3426 CB.1 

Cap, helvin HV.3711 D8 

Cover, terminal HV.2222 C.32 

Grommet HV.2600 C.18 
Housing 4402/K C.41 

Housing 4413/K C.31 
c4l 

Plug 3433 C31 

Sleeve, boot HV.2256 €:33 

Sleeve, junction 2104 C31 

Sleeve, junction 2378 C3) 

Restricted 



a 

Restricted Issued with A.L. No. 6, November 1974 
CANBERRA T.Mk.19 

Page 5 
INDEX OF PROPRIETARY ITEMS 

Manufacturer Description Page No. 

Hellermann Electric Co. Ltd. Strap HV.3254 Cll (Continued) 
C12 
C.13 

C.14 
CS 

C.16 
C19 

C21 

C22 
G27 
C.30 

C31 
C32 

C.33 

C.34 

C.40 
C.43 
C.44 

C.45 
Strap HY .3341 C35 

C.40 

C.43 

CB.1 

D.13 
Stud NT.3255 C1) 

KE.5 
Stud NY.3342 Cis 

c.40 

C43 
CBI 

D.13 

Restricted 



__—s—i‘“ t;.CCCé#adedseeoweeeeeeeee
 

Issued with A.L, No, 6, November 1974 

Page 6 

Restricted 

INDEX OF PROPRIETARY ITEMS 

CANBERRA T.Mk 19 

| Manufacturer Description Page No. 

Hellermann-Deutsch Co, Ltd. Cap, protective 416125/4 D.6A 

416125/10 KBA3 

416125/20 D.12 

Receptacle, dummy 418618/20 D.6B 

Hoffmann Mfg. Co. Ltd. Bearing, ball - LD3 

Bearing, spherical Cj.o FA.2 

End, rod CF.2A M3 

Hymatic Co. Ltd. Bottle, air Res. 5 Mk, 2 LD3 

Valve, reducing D.13334 FB.9 

Valve, stop C.50964 FB.8 

King Aircraft Co. Body, lower C.7810 FB.2 

Body, upper C.5331 FB.2 

FB.3 

Coupling, flexible C2593 jB.1 

}B.3 

Coupling, flexible C.5623K JB.3 
Fastener, complete C.4708 FB.2 

Housing, fastener C.3102 FB.3 

Lever, assembly C.4953 FB.2 

Kollsmann Ltd. Altimeter, Mk. 29B L.82621-04-010 D.10 

Altimeter, Mk. 30A L.83261-04-010 D.46A 

Plate, mooring L.84380-00-100 D.6A 

D.10 

Unit, P.E.C. L.8327 1-00-000 FB.7 

Marconi Ltd . Member, horizontal W.14478 Sh. | KB.3 

Ref. 8B 

Member, side, L.H. W.14481 Sh. 1 KB.3 

Ref. 25B 

Member, side, R.H. W .14477 Sh. 1 KB.3 

Ref. 25B 

Plate, mounting W.23862/C Sh. 1 KB.3 

Ref. 3 

Stud, turnlock fastener W.14183/C Sh. 1 KB3 

EDC KB.4 

Washer, domed W.14480/C Sh. 1 KB.3 

Ref. 1A 

Martin Baker Ltd Bracket A/MBEU/3666 D.14 

FA5 

Clip, harness stowage MBEU!/320EE FA.3 

Clip, harness stowage MBEU/321EE FA.3 

Clip CMBEU/ 1818 LE.2 

LE.4 

Gun, ejection MBEU.34678 DIS 

Gun, ejection MBEU.34679 D.15 

Line, leg B/MBEU/17353 D.15 

Pin C/MBEU/1434 D.15 

Pipe MBC],2001 D.16 

Pipe MBC].2002 D.16 

Pipe MBC].2003 D.16é 

Pipe MBCI.2004 D.15 

Platebase CMBEU/1748 LE.3 

LE.4 

Restricted 



Restricted Issued with A.L. No. 6, November 1974 

CANBERRA T.Mk.19 
Page 7 

INDEX OF PROPRIETARY ITEMS 

Manufacturer Description Page No. 

Martin Baker Ltd. (Continued) Rail, guide MBEU/1902/EE D.16 

Rail, guide E/MBEU/1963/EE D.16 

Seat, ejection, type 2CAI, Mk. | D.16 

Seat, ejection, type 2CA2, Mk. 4 D.16 

Union, Ermeto C.76-HC/MB D.16A/B 

Unit, combined release MBCJ.159 D.16A/B 

Unit, time delay MBEU/236EE D.16A/B 

Newey 
Fastener 7/7-101 D.17 

Oddie Clip 212 D.l 

Stud 213/2 C40 

D2 

Washer 214 c.40 

D2 

Raychem Ltd. Cap, thermofit TC.4003-CRN ics 

Rotax Ltd. Unit, high energy ignition VB.25/1 CCZ 
cD.) 

Saunders Valve Co. Cock, hot air M.4273 LF.1 

Valve, non-return 6270/B FB9 

Skefko Ltd. 
Bearing, ballrace CBA.2 M1 

M5 

Bearing, ballrace CBA3 M7 

Bearing, ballrace CBA.S5 M.11 

Bearing, ballrace RL4 M.10 

Bearing, ballrace TTS.8.1/2 M.1 

M2 

Standard Insulation Co. Grommet 664-4133 Gl 

Grommet 675A/S11A c.18 

S.P.E. Co. Valve, non-return P.24A Mk. 3 LC.6 

Teddington 
Switch FHM/A/25 C.44 

Tenax (E. Turner Ltd.) Button 3) D5 

FC.4 

Fastener 22 D5 

Nut 302 FC4 

Peg, clinch 4] FC.4 

Socket 99 FC4 

Terry H. Ltd. Clip 81/3 LE3 

Ring, split 169 LF.A 

Texas Instruments Diode, rectifier 18111 D9 

Thermotanks Ltd. Punkah, louvre K.1259/43 FB.2 

Thorn Ltd. Lamp, pillar 80-10-0678 RED DA3 

Lamp, pillar 80-10-0855 RED D.13 

Switch 01-0010 D6B 

Restricted 



Page 8 

Issued with A.L. No, 6, November 1974 Restricted 

CANBERRA T.Mk 19 

INDEX OF PROPRIETARY ITEMS 

Manufacturer Description Page No. 

Ward Brooke Block, terminal WB/1110/S10B D.10 
Cé 

Block, terminal WB/UN/1146/D3W C.12 
Block, terminal WB/UN/1146/S2B D.10 
Block, terminal WB/UN/1146/S3W Cl 

D.10 

KBA.3 
Block, terminal WB/UN/1146/D5W ch 
Block, terminal WB/UN/1146/SSW C5 
Block, terminal WB/U'N/1146/S10W C12 
Cover, terminal block WB/1110/2B D.12 
Cover, terminal block WB/NY/1110/B3W D2 

KBA.3 
Cover, terminal block WB/NY/1110/B3 C7 
Cover, terminal block WB/NY/1110/B5 C17 
Cover, terminal block WB/NY/1110/B8 C.F 
Cover, terminal block WB/NY/1110/B9 SE 
Link, 2-way WB/1146/72 C.18 

KBA.3 
Link, 3-way WB/1146//73 C.18 
Link, 4-way WB/1146/74 C.18 
Pillar, mounting W.B/1146/28 C19 

C4) 
D.10 

KBA.3 
Spacer WB/1114/22 C19 
Spacer WB/1114/23 D.10 

Restricted G.O. Rugby 179093 25 7/76 1803/1 


